< < < =
% 2 i 2
S *as\ﬁa S )
*:*3{15“
®
? -
5 S=1:-250
s
1
o
= x
)
am
N
U I
i
i
Q
T
©
=
x
B
®
6
~
<
=
T
[}
o
=2
= L=8.58m
E' )
x &
=]
«
w
3
S
=]
0
) ®
° *—J%ﬂ
7
0
o
- N
—
il o SE = <
2 L Gem -
et
. = g S /0 §,1 i
w0 < - QIZ(Q/ LRI
© ;
= Y
TR = T a1 *V' (\ll 7 (‘_',
+ L = /6 i
57 e > DHIQ m| 1o}
*__)(3\‘1@ —— i s
- T =
o
A Sk oA
s . S >
= < o oS3 A T~
w172 ( e o\ 47, =
T | & VA o WAS
L e = P =3 o \ o
| [ ) o. ula R ~S é’? —— @235“
" 2% s | R v A o, . o E «
12, B + S—156 i N N
et ' /:\&‘9* : \\ \\ o—se0 S; ‘f,\ V; ; y /. 100 e * ‘2!
=1 5 H .
(\Xz = | L PEAZGlS’ 512.60 100 100 =0 ) +
e g e W e | é o /S T e T Wp150 L1050 \ % ol y
§ =Y 199+ e - \ \ . 5
aie.se .y w8 Iy NS \ v © ; vo—3—26m a Qo <
B " 1 1 [ = Te) f x
! ¥ =1 WA | : g e e g 150 L1068 o2 %= / \
g > AR \ NE 7 : PU1-240 2 Z fl e
_ \ M 3 !
s - \ i ! | L2 BC-800 L=45.5n 7
0499 A—— it = \ %o ] )
4 P \ z z iz /
20 e BOE=—6667—660 = 612.6f Gr-C-28  L=45.5m
5. _
4 e @ a x . . . /
_ @ 11=0.3m A=143m2 21=0.3m
iz
.62 B300x H500 L=50.0m
—— o vry-— s ! gﬁ_ L=45.0n
W = m !
666460 I
=H— MB-4 \0
=a=ro— i
—e
[ 812.66
=88F— \
w2z W\ wiz.ss
812,74 812,60 !
12,60 \
i \
Y
s i 1
iz
x 50
\©
iy )
<«
E |
/ I L
| [
4 | - 4
2011) |
*f_»%\]w 16 31554.466 -48761.914 815.510
4-7 31611.304 -48768.367 814.755
4-8 31676.504 -48730.137 813.914 MB-1
4-9 31721.987 -48694.125 814.344 . [} P
MB-1 31666.521 -48816.644 812.762 o
NB-2 31719.547 -48873.440 814.958 & i
[ 31742.637 -48823.765 814.430 ‘ ’ o
MB-4 31685.833 -48775.472 812.781
(MB-1 MB-4) KBM.3 M
0
5 % T %
2, 5, 2, B,
(=3 ®, % =
2 S 2 S




825.00

300
100

H=1:
V

1

L=56.3m

07€T+87ON

D

—~—

112

cLy2Dn

CR:

3
€ 0-=k

[

T2 0-=K

g0 0-=k

L79T+G"ON

VCL=20m
VCR=241n

I =S

I
ENSAD*H

VCL=20m
VCR:

1860m

g0 0+=

WETO™0+=

i

Uz070+=

VCL=20m
VCR=235m

UBTT™0+=/

Wg/T" 0=

WETZ™0+=/

ULTO" 0=

VCR$68n

o= S
\mmm.mﬁm

@

096°€T8

E88°€T8

FrET 18

FLTLT 18

6v1°G18

0427618

(58L°GT8
.I\U\mﬁ.m;
rBLL ST

8vL"G18

r9eL eT8

I .
008€T8 805 €18
N AHLreeis

—0vT°€18

HLET"€T8

96T 7€18

56" €18

r6ee €8

505 °€18

1967€18
€19°€18

090°918

719" %18

@xcﬁ.:m

r167€T8

697118

res e

S v18

r00°sT8

718
HLS 918
rrs" 718
Ly v8
mElmAL

627518
62°6T8

rro°sT8

66" 718

HBT s18

r0z°s18

eS8

e sI8

e6° 718

6e"v18

e eT8

mLeTens

687218

687218

rLeens

ST ET8

mLLTee

987218
167218

L eT8

95" v18

8L" 718

66970
€26°0
€26°0
15870

792°1

9T

Lzl

016°T

86°T

92LT

€1eT

8v1°0

070°0

0v0°0

6T e

v09°T

mLoero

6v1°0

04870

mLveTo

50€°0

rGe0°0

r681°0

FSELT0
LI
0L 0

roee"o

79070

r000°eLT

rLse"691

0vs799T

0007097

9ST 9T

000°S+T
HELLTEVT
000°€¥T

0es 1T
000" 0vT

00079€T

BELTTET

riLs6-eet
000" ezt
000" 02T

rrv6 €Tt

000" 0TT

eee 601

Hes 70T

0007007

e €6

695788

6L €8

1000708

000" LL

000709

000" or

rLeeTe

6vS T2

000702
r000°6T

rreeTt

000"

00070

rEr9e

mLiee

—0vs°9

rv8 Y

psTooT

LS’ T
o002
r9s0°9

AR

HB9L"0

Ly

s

95979

eLLY

w2

rE6L e

000°€

000" LT

000702

reoL’8

r1889°6

7S T
000" T
r6ET"L

989

000"

00070

md3

rLSE"6+87ON

mso3

00°G+L7ON
508
00°€ +L7ON
703
FLTON

0079T+9"ON

rdS

708

00°2+9"ON

roToN

2]

00" 0T+5"ON
Eds

e

7 ON

00" LT+E7ON

Htds
HLoN
00°6T+0"ON

m00°G +0°ON

60.000

R
LC:

1P.4
14° 22 30"

TL:
17.5625L:

1P.3
26° 59'
TL:

R=20.000
9.549
1.2

27° 21

15.000

R=
LC

6.460

L=

22.767
28"
11.522

IP.5
21° 44

L
22.767SL:

1A=

1A=
=8.828
CL= =0.554

R=co

35"
4.800
=0.568

=9.4228L:
R=

CL:

2"
4.868

LC
1A=
TL:
9.5498L:

52,557

L=

19.377
I1P.1
74° 00' 46"

TL=11.306
19.3775L:

1A=

11.861

L=

70.000
17.562

R
LC

20.000

1.096

CL=

9.422
T

LC=

0.584

CL=

3.784

CL=

%051
€Lt

14000°0

s

uzer'g

000" 0

820.00

815.00

810.00

805.00

00T:T=A

1:300

H;

DL=800.00




S=1:50

B300x H500

20F) €= 4cm

t=10cm

RC-40€=15cm

RC-40t=12cm
t=41cm

3 5 /12h
2.0x 2 4.00 712h
20 Km/h
15 m 9.0 10.5 %
18:3 1.5 2.0 2.5m
@ /24:*2) N1
| |
4> 3( (5> 58 cm (
6>
<>
TA 9.0cm
58_.0Xx 0.70= 41.0cm
4.0X 1.00= 4.00
x =
10.0X 0.35= 3.50
x =
15.0X 0.25= 3.75
29_0cm 11.25
12_ocm
41 .0cm
10
151° 810m 62
58cm 4lcm
151° 810m 62
58cm 58cmx 0.7

41lcm




DL=810.00

DL=810.00

DL=810-0

2064

2266

BC.4(No.6+4.0)

GH=815.24
FH=814.540

NO.6+2.0

GH=815.29
FH=814.367

500,

1811

500

NO._.5+16_.7

GH=814_87
FH=813_92

4000

s zaak

S=1:100

C = 4.6
Cci= = 5.6
B = = 0.0
Bl= = 0.0
B2= = 0.2
B3= C = 0.6
Li=( ) = 0.0
L2=( ) = 0.0
L3=( ) = 2.3
La=( ) = 0.0
wi= = 2=95
c = = 5.1
Cci= = 5.1
B = = 0.0
Bl= = 0.0
B2= = 0.2
B3= C = 0.6
Li=( ) = 0.0
L2=( ) = 0.0
L3=( ) = 2.3
La=( ) = 0.0
wi= = 2=
c = = 7.5
Cci= = 2.4
B = = 0.0
Bl1= = 2.7
B2= = 0.0
B3= C = 0.6
Li=( ) = 0.0
L2=C ) = 0.0
L3=( ) = 0.0
La=( ) = 0.0
wWi= = 2=3

DL=810.00

DL=810.00

DL=810.00

EC.4(No.7+1.5)

GH=814.47
FH=815.778

c = = 1.5
ci= = 3.9
B = = 1.6
Bl= = 1.1
B2= = 0.2
B3= = 1.1
L1=( ) = 0.0
L2=( ) = 0.0
L3=( ) = 0.0
La=( ) = 0.0
wi= = 0.3
o
G
5
NO.7
GH=814.15
FH=815.748
c = = 1.6
ci= = 3.9
= = 1.9
3218 21= = 1.4
B2= = 0.2
2365 B3= = 1.2
L1=( ) = 0.0
L2=( ) = 0.0
L3=( ) = 0.0
La=( ) = 0.0
- wWi= = ==
As
¢ 50
0 150 ~
g B
G
g
SP.4(No.6+12.7)
G6H=815.29
FH=815.321
c = = 1.3
Cci= = 4.1
B = = 0.4
B1= = 0.0
B2= = 0.2
B3= = 0.5
Li=( ) 0.0
L2=( ) = 0.0
4.56 L3= ) = 1.4
La=« ) = 0.0
wi= =6

!3342

| E—

200}




NO.8

GH=814.45
FH=814.717

S=1:100

c = = 1.1
ci= = 3.4
B = = 0.5
Bl= = 0.0
B2= = 0.2
B3= >= 0-6
Li=( ) 0.0
L2=( ) = 0.0
L3=( ) = 0.0
La=( ) = 0.0
wi= = 2.5
=
2
2
DL=810.00
SP.5(No.7+15.2)
6H=815.00 c = -
Fi=815.149 c1= -z
B = = 0.3
B1= = 0.0
B2= = 0.2
B3= = ©0.6
Li=( ) = 0.0
L2=( ) = 0.0
L3=( ) = 0.0
. La=« ) = 0-0
wi= 2.4
2.bo 4.50
s | _vsos | f
P g
As \
= g
wT1 6 \~ :0‘:* gl =
'\\---ﬂ\ = 3
¢ 150 \wl‘xu i -
B =\
e —r)
DL=810.00
BC.5(No.7+3.8)
GH=814.57
FH=815.785 c = =13
ci= = 3.6
B = = 1.6
Bl= = 0.9
G 4000 B2= oz
_| 500, 1500 1500500 Li=( ) 0.0
1362 _, 737 L2=( ) = 0.0
L3=( ) = 0.0
La=( ) = 0.0
wi= = 0.3
2.80| 4.79
s | _vsos | f
s B U
_ 1
050 6 s
9 150 &@ gl 8
< MmN
N

DL=810.00

Cc = = 2.6
ci= = 0.0
B = = 0.0
Bl= = 0.0
B2= = 0.0
B3= ( )= 0.0
L1=( ) 0.0
L2=( ) = 0.0
L3= ) = 0.0
La=¢ ) = 0.0
wi= 7.0
EP(No.8+13.0)
6H=813.91
FH=813.950
! . 6950 . )
j;m‘ 4450 . 1500__500
2950
_L.50% 1.50%
! I !
DL=810.00
EC.S(NO.8+6.5) |
6H=812.53
FH=814.134 c = — 13 s
ci= = 4.1 5.6
B = = 1.8 2.2
Bl= = 0.3 0.3
0.2 0.0
1.5 2.6
0.0 0.0
0.0 0.0
0.0 [oe)
0.0 0.0
2.8 2.8
DL=810.00




1:100

S=

45500

BC-800 L:

|

,

,

|

l
04

00[ 9" ON o

5250

L=!

100

[

E,.oz IR

300

1:100

S=

e

W

300

814.12

005| o=H 1102

(VP 50) 2m2 1

10m

N
)

45499

L=

Co
217

Co

DL=810.00

5250

L=

100

_ \ (212=19)

6681=U

T —

§992=

\@ [EET]

5250

54

L=5250

100

4634

6892=15)

EZ]
9222=15)

8eve=y

(6028=15]

182=4

{geee=19

882=Y

5250

214

5250

L=

100

(8eze=19

682=U

£=15);

8
y0ze=y

5250

L=6750

100

1

5250

L=

100

4848

815.76

93 1902

(00be=15)

0gee=y

(0z6E=15)

905e=t

¢
{TT6e=15>

6750

1739 9

v

15.75

3511

71

815.72

(116g=15)

86ye=Y

(9.8=15)

Loye=y

5250

8

5250

111

3827

3 100 L
1423
50

815.29

<_>/<4_1r<4<4<4<4<—<—<4-4ﬁF=:

=

5250

1

L=5250

100

177

5250

L=

100

(9pze=1s|

1190

g
g
i

TSve=l

5250

002

5250

44.95n

L=

1434

300

814.20

9

£1005 00T  ¥STC

810.00

DL=




i

155|245
T

— L

[:ﬁ

B=800

b
$=1:50 S=1:25 S=1:25
up 1
— 1] |
r ! 18-8-25BB
013 I
d_ ¢ b a 100 =) Lj;) | _A=0.150m2
x " S
(< DI
b=4 — -
—\ - © 1521 J\
o . . . N\
o \
w =
—_ N\ = \\
P
. ol - © \ NN, NEENEAN
B 12 18-8-4088 I I R I IR RN SR
- [
o
Lm 750 750 750 750 (om )
S (13) (n2) (2) (n2)
1.50 112 1.00 2.12
RC-40
T ] =
100 1318 100
(nm) ( 1m ) 10
D13 con
FH FB a b c d e f
mm kg/m m2 n3 n2. ke
D13 0.50mx 0.995( /myx 4( /1.5n2)=1.327( /n2) m | O | &M | g N N R
100 200 | 1318 | 400 | 418 | 300 | 100 | 150 | 350 | D13 500 | 26.66 | 0.995 | 0.498 | 4.00 | 2.64 | 15.18 | 13.27
$=1:25 $=1:50 $=1:50
1471
A=0. 15012
8121521 18-8-258B
A
I « =
2000
=
g
8 1 L O \ g O\
£
5 | [ T L]
R 1% il
A bt V4P =
[ VA ]
g
F*ck=24N/mm2 HEE 118
CK=, mm. -
A=0.264m2 i W H s St
(m) (m) (m) (m) (n2) (m) (m) (n3) (n2)
(1o U | 2154 | 2.181 | 2.168 | 0.300 | 3.5%3 | 2.424 | 2.335 | 1.060 | 8.434
5 N S 2 | 2.009 | 2.0 | 2.085 | 0.300 | 3.389 | 2.331 | 2.246 | 1.007 | 8.151
(mm) (kg) (n3) . . . . (n) (n) () (n2) (n2) (n2) 2.077 | 16.645
(m3) (n2) (n3) (n2) 1| 2.4% | 2724 | 100 1.060 | 2.887 | 0.264 | 0.150 ) (M3) = Hm2) x (BI(n) + B2(n) ) / 2
BC-800 800 | 630 | 0.160 0.09 0.23 0.01 0.04 2 | 2.903 | 3.246 | 100 1.000 | 3.441 | 0.264 | 0.150 Y ) = mx
-3 | 3.25 | 3.640 | 100 1.0600 | 3.858 | 0.264 | 0.150 Yy @@= @x ( S+ s+ ) x 2
. <4 | 3.9 | 3.911 | 100 1.000 | 4.146 | 0.264 | 0.150
-5 | 3.204 | 3.58 | 100 1.000 | 3.797 | 0.264 | 0.150
6 | 2.885 | 3.226 | 100 1.000 | 3.420 | 0.264 | 0.150
7| 2.38¢ | 2.665 | 100 1.000 | 2.825 | 0.264 | 0.150 )
24.374 | 1.848 | 1.050 1
) () =S x 0




() st

5352 5388 A 5445 5419 6976 5501 5458 5360

|
—_ |
I

\\

5375 5456 5532 5502 6955 5401 5384 5324
)
o, [ 12 h
m) (m) m) (n2) m) (n2) (n3)
1 5.352 | 5.375 | 5.34 | 6.344 | 1.183 | 0.546 | 2.929
2 5.388 | 5.45 | 5.420 | 9.087 | 1.667 | 0.810 | 4.3%2
3 5.445 | 5.53 | 5.480 | 11.610 | 2.115 | 1.075 | 5.001
4 5.419 | 5.502 | 5.461 | 13.218 | 2.420 | 1.267 | 6.919
5 6.976 | 6.955 | 6.966 | 16.945 | 2.433 | 1.5 | 8.882
6 5.500 | 5.401 | 5.451 | 11500 | 2.110 | 1.072 | 5.843
7 5.458 | 5.384 | 5.421 | 9.466 | 1.746 | 0.855 | 4.635
8 5.360 | 5.324 | 5.302 | 6.813 | 1.275 | 0.504 | 3.173
42674
CAD
h(my = (m2) / Q]
(12) = h(m)/2 (2 x 0.360(n) x 1.118 + 0.1xh )
(m3) = (n2) x (m)
)
No (m) SL1(m) SL2(m) (m2) (m2)
1190 x (2215 + 234 ) / 2 = 2000
120.75 = 1 100 1.955 x ( 2.334 + 2527 ) / 2 = 475 | 12.985 No (n2) (n2) (n2) (n) (m) (n) (n3)
100 18-8-4088 22.61 2105 x (2521 + 27238 ) / 2 = 5.5 1 100 12,985 - 10500 = 2.485 0.423 | 5.250 | 1.060 | 2.632
18-8-4088 3 98.01 % 2 100 5250 x (2740 + 3246 ) / 2 = 15.713 | 15.113 2 100 15713 - 13.125 = 2.588 0.441 | 5.250 | 1.060 | 2.744
D13 L=500 kg | 160.24 | 160 X 1.321 s 100 Las % (359 ¢+ 3401 ) [ 2 = a1 | oo 3 100 18212 - 15750 = 2482 0.419 | 5.250 | 1.060 | 2.607
I 6.82 7 45.499/107x1.50 = 6.824 3.827 x ( 3.401 + 3640 ) / 2 = 13413 4 100 19.985 - 18.375 = 1.610 0.274 | 5.250 | 1.060 | 1.705
1.85 . 10 S x (8.6 + 386 ) / 2 = 13214 | oo 5 100 25.675 - 23.625 = 2.050 0.272 | 6.750 | 1.060 | 2.176
o ) 24.37 2 1739 x ( 3.8%6 + 391 ) / 2 = 6071 6 100 17.903 - 15750 = 2.153 0.367 | 5.250 | 1.060 | 2.283
1.05 s 10 Lo x (30 ¢ 380 ) [ 2 = 1447 | oo 7 100 15.57% - 13.125 = 2.449 0.417 | 5.250 | 1.060 | 2.595
100 n 44.95 45 4848 x ( 3.920 + 3.600 ) / 2 = 18.228 8 100 12.569 - 10.500 = 2.069 0.352 | 5.250 | 1.060 | 2.190
1 18-8-4088 I 1.06 1 6 100 5250 x ( 3.582 + 3238 ) / 2 = 17.903 | 17.903 138.616] - [120.750] =  17.866 18.932
2 18-8-4088 3 1.02 1 0304 x (_ 3.25 + 3200 ) / 2 = 0978 ) o - YRy ™
RC-40 3 42.67 43 7 100 4634 x ( 3.200 ¢+ 2026 ) / 2 = 13.751 | 15.574 Y ) - o x L) x o> Lis
n 45.50 46 0312 x (2126 _+ 2.689 ) / 2 = 0.845
8 100 5250 x ( 2.665 + 2123 ) / 2 = 12.569 | 12.569
v 138.616
n2.
(m2) (cAD )( )
( ©© )
0 : o - X7 T a 100 0.537 x 1.118 0.600
No  [1.5¢1.0]0.75% 1.0] 1.5x 0.5 ]0.75x 0.5| (1) | (13) 2 0625 p i 0699 b 100 0.610 x 1.118 0.682
1 5 2 10500 | 8500 c 100 0.807 x 1.118 0.902
2 6 2 3 1| 13125 | 10.636 d 100 0.862 x 1.118 0.964
3 5 3 5.750 | 12.78 e 100 0.600 x 1.118 0.671
4 9 3 3 1 | 18.375 | 14.808 f 100 0.453 x 1.118 0506
5 m 3 n 1 2.6 | 19.216 0} sL(m) g 100 0.374 x 1.118 0.418
5 9 3 15.750 | 12786 5459 p 12 5.0% 4.743
7 6 2 3 1 13.125 | 10.636 119881
8 6 2 10.500 | 8.524 * 22.61
63 2 3 4 | 120.750 | 98.006 )
1
n2 n3
100
1.5¢1.0|  1.500x1.000 | 1.500 1.23
0.756x 10| 0.750x 1.000 | 0.750 0.557
1.5¢0.5|  1.500<0.500 | 0.750 0.613
0.75x 0.5|  0.750x 0.500 | 0.375 0.213




No.6+16.3

1140

Tlso‘

No.6+16.3 No.7+5.0

L=8584

$=1:30

1647

1937

1473

2254

1273

815.601

816.239

B
=
=
&

816.208

400

815.778

816.239

EC.4 No.7+1.52

|

816.208

815.808

BC.5 No.7+3.773

18-8-4088

No.7+5.00

NE

12.79

812.79

\

812.278]

ﬂ 811.79
il

mm
f St g v m2 n2 n3
1140 | 1228 | 856 | 956 | 0.96 | 2.37 0.716
1000 | 1077 | 800 | 900 | 0.90 | 2.08 0.600
900 | 969 | 760 | 860 | 0.86 | 1.87 0.522
750 | 808 | 700 | 800 | 0.80 | 1.56 0.413
500 | 539 | 600 | 700 | 0.70 | 1.04 0.250
Q
x"éhss X
» »
\© »
BF400 T  5.45%
812.81
o 812.70
3 3|
g =
3 12.00
|
S
k|
i I

300 12389 300
1847 MNo.6+6.762
814.08
< 18-8-40B8
T ZTTT N
T
.
”""//"I/
L=2389
N
S N
P N D
& \ Y
s
447
-
1847
mm
H SL B W n 3
2840 | 3312 | 2204 | 2304 6.5 | 3.800
2625 3061 2075 2175 5.69 3.380
0
3
1532 Oﬁ‘
HP@ 600
Flow

1957

1.9%

)

$=1:30

No.24+14.592

813.865




[ 30.0 o
y 19.0 kN/n3
u 0.5

q 3.5 kN/m2
q 10.0 kN/n2

81273

813.89

$=1:100

$=1:100
9000
7000
750, 2750 2150 750
1.212
2.00% 2.004

o
NS
W

o

L
H1750 L=4.03m

H1750B L=4030

[L82000=2000 1000, 1030,

A=0.39m2

3.2m2

1750

st
|
I
I
1\
= |
I\
I\
|
||
T I
o |\
=] L E
S = | i
= — I
* 500
_ B
20 0
L
10m 10m
H T Hl L 4
m; nm; mm, ki
(m m | k) ) (n3) (n2) (um) B )
1750 120 90 | 1573 | 0.4 1.600 2.00 1750 1.50 15.0
266 26 | s | e | o 806 260 2696 260 269
2256 26 | 0 | 253 | o4 2666 =60 2250 250 259
L=2.0( )

13

t=3cn

18-8-4088 _t=10cm

500

500

A=6.05m2

8¢,

813.88




S=1 10
BC.4R
330
45 240 45
sb 220 b
13 i = o
NI
N ©
N
<
o]
(0]
440
PU1 (iom D)
KKgz7 >
PU1-240 o.0o7m3| a_am? 9.95 92
S=1 20
B300x 500
o
o
n
Il
I
o
n
ol
KR
o]
o
Ll
| 340
30 39
400
50 50
500
(10m D
KgzZ >
300x 500 |O.10m3*| 5.00m?| 5-00 300

BF

400

260

345 0

100 30,50,

395

545

BF-400 5.00

13 n3 0.12

CR40-0 10cm n2 5.5

L=2.00 --- 244 kg

s=1 10
R
1000
T ] |
A
b %
) & (mm) >EES
B | s
a t \ b (kg)
2% | 350 470110011000 10 109

500

50

300

50

300

200

(12x 315x 510

:I\

\
\
} INg.
| ‘\ 4
T N
[l
L—
|
[
| Il
,J::U* 77777
1.05
! 1 10
300
8
o) ®
oy
g 9 o |
15
i 0 > o 8
o N a
0 |- 1
S [ 3

50

100 50
350
1 300
300x 300x 500 a1
vu @ =150 1.05
12x 315x 510 1
@ =150 1

22




%
L
-
2
S
I
u_ a
3
el
ES
2
&
Z
=
Au\py._oa
© =4/ 0pg-
; 98 O
]
SgeyostsieL O
s 5
(e
-
L
o QLU EEER
) 2
=
o o
S [}
3 =2
=l o
= M
S ~
S o
g =
o o
<
o
o
[T}
[
=
o =
=
=
o
IS
1
<T
. -
o
o
L
n
i
o \
AT ‘
o
2
%
5
Au\pywoa
)
@,
2
%)
(et
) 1035
0
ﬁ\%m
Au\pyooa
.

= e

*—,)«"bﬂn"“
@




9°E€T+L 0N

|
N =
§~~|g |
Voo NS .
22 o LONYY S T+L 0N
2L m\a‘:\ Oo\w 4 (
NN \
E = N v \
35 T o8 oy )
o~ 0 «4\ (
w & |
U g7 gT+9 0N : ,
P.Nf@ ON
0-0L=Y¥ 7dS
o.ownm
0°0.L=Y4 0 ¥+9 0N
w =g ¥08
0" 2+9 0N | =
9°ON I
L"9T+S°ON

o
Lo
N

S=1:

_

93_77

/ a CIr
T HzeL"9T8 5L 918
/ — Hiev-ots  Hoo"og
f 00974
U, T Heoz-ots  Hpv-ots
\
/ = HBLO'9T8  HTE"0T8
Tl
:, qhwmn Hizoots  Hiz-ots
//_ rord erarare eresre  Lsoors
. 00T N Aposss Fgotots
\
_, T Hoo'sT8  168"s18
i
_% T Hees'ste  Ho-sia
T Hier-ste  Hes-sia
T Hoge'ste  Hee"sia
2807618 Ye82'SI8  [ECSI8
d8 N A
8| o
. S
2 00nIEA S
B ®
I a
g 9
s =
< N
g WA
i

AN

AN

N
mm.Q\w.e\.,\ . b

L=

€€°GT+9°0N

/ J/F=815.28
1/
Y/

20




20

2B

SP.4

2000

2000

2000

500

co

co

@ 114.3x 4.5

21




5=1:250

®
7+15.156 k-6

Rz @

BCA
NO. |/ 6+3.957 R=10.0

=60.

IRH-000

\
\

\ NO.6+16.3

\
\ N0i6+16.0 Z
A

812.79

NO.24+12.045  s=1:50
9000
7000 2000
750 2750 2750 750
2.00% _2.00% _

DL=810

812.79

HP@ 600
Flow

$=1:25 $=1:20
400 2.2 1250
=2 1
5400*}1300 ( ) 25 8@150=1200 25 (1 )
t:i?;ggxi_l ) :; t3.2mm 1.3%0.4x26.76kg/m2 = 13.9kg -‘ L
/_ L30x30x3 0.295mx2  x1.36kg/m = 0.8kg L-25x25x3 L=0.525m N=2 L-25x25x3 | 0.525mx2 x1.12kg/m = 1.2kg
013 L0 L'ﬁ;go = 1125w X1.36ke/n = 1.5kg 3l 3 L2252 xL.12kg/n = 2.7ky
¢ 13mm 2 x0.3kg/ = 0.6kg 99 L=0.54m N=7 09 0.54nx7  x0.499kg/n = 1.9kg
A I}
= 16.8kg b = 5.8kg
e | L-25x25x3 1=1.225m N=2 #
L-30x30x3
L=295 N=2
S=1:25
1-1 2-2
2100 ® %
N(\-Q' bﬁc\g"
0¥ o
200, 750 200, 750 200 \ \
=
o
™ L | |
3] 4
LLH_J A,ﬁ)_,
H—0oH u e u
| | B I
Flov g g2 || T Flow_ 2| BF400 | 5450
2 8 || & S =
A
‘ ,‘:47,/ ‘ _ ‘ | /4 777777 812.81
| (% | K _ s 812.70
= ! g -
' ' 812.00
3 L4
N=2 N=2 2
B=300 6300 B=300 4300 g | C‘U) S -B-2588 OO(‘)‘
812.66 g o
13cm = 812.79 ‘ | 2100 | ‘
52¢n = 812,27 20 !

2300

1300

3-3
1600
200 1200 200
) w0 e
580x100x30
580x400x30 B4 492 74
|
Sl
I
g [
IL==JI T T
= 1
IS = =| |
o \ \ g
g L ‘
Jo .. 5 b ]
(T we P¥H]T)
‘ ‘ 1600 \ ‘
| 1700 |
| 1800 |

1250x550

200

T

1200

200

1450

1300

500

150

-8-2588 ©O.-. . -

200_{10f

o

RC-40

0

1600

1700

1800




L580-B30-H50

FFU-50

L580-B30-H-100

FFU-50

L580-B30-H400

S=1:4
580 ‘
I I | ‘ 8
T T T
\ \ } 012
sl | 7
[ \
| —
SUS304 150
b= % ‘ 23 l C:::::::{:}
| 580 ‘
I
| |
I | ‘ S
T
[ } 012
gl 1
[ \
|
150
SUS304

iﬁz/
50
100

FFU-50

|
\
i
580
250
I | 3
T T
[ } 012
g || |
| | I
E—
— —
150
* 3
S == ——]
&

400

34

2 S=1:4
B-B
610
30, 550 30
4-9 9
SUS304 |
|
r S S -
L = | s—— Y
gtsgog SUS304 FB
C-C
e | ' )
B ! B
|
- |
|
g 2
|
|
8
|
\ A
\
30 550 30
610
628
$=1:8
200 200
= ' Sus304 FB
| |
| 550
| |
C \ I
f il i i
| I I |
L7L7U7W7U7L4J
FLOW
- | _
(=== H = _
T ]
+|
<t |
)
| o
‘ b
|

SUS304

550




A-A B-B’

S=1:20 S=1:20
110 600 110 10 500 10
¢ 600
814.12 25kg =
E i :
- ‘ ‘ o M2T46-45
3| | | ‘ I
—_—
12B-210
C::JE::D 2,100k
|
‘ HPg 900
s HPg 600 | | |
— |
811.59 11.59
= 5 ‘ - 2p8
g a2 [ R 40 ’
o t=150
$=1:50 “
5 ‘ 600 ‘ 5
1450 1450
i ) 429, 6312 HP900 811.50 0 0| 1120 0
- q . %OAﬂﬁmz HP600 811.59 0 195 760 0
12 0.89:0.82 = 0.73 L2 om0 - 0.8
2 4
e
N 130 814.29
i 814.12
&Q’ — 600 ‘
600 ‘ |
|
1847 :H
[ -
BF400 7 _5.45% \ T
1 — id i 812.79
3 812.70 H . I —
g = wa g = | T BiL.59 81159
= H 811.46 811.46
812.00 8 3 HPFISV?O \ 1 Bl HP([) 900 B
N HP@ 900
{ o HPg 600 ¢ HP 1100
I \ =
| [ |
\
HP® 600 HP@ 900

1=10.36m L=6.93m




